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Excellence exemplar for 91403 2015 Total score 20 

Q 
Grade 

score 
Annotation 

1 M6 

This candidate has received M6 for this question because they: 

a) shifted and labelled the AS curve correctly on Graph One. (1) 
b) provided detailed explanations on how the reform of the RMA will 

reduce costs of production and improve productivity, increasing Real 
GDP (2) and how this will create more jobs (3) which is a derived 
demand (4) and improve Employment. More in-depth explanations 
would have included details such as the impact of reduced time 
delays, the components that make up AS, the significance of the 
changes to Eco Growth and/or Employment. These would have 
allowed a more comprehensive comparison. 

2 E7 

This candidate has received E7 for this question because they: 

a) were unable to use the producer sector and the circular flow model 
to provide a relevant explanation of how falling oil prices could lead 
to deflation (5). 

b) provided detailed explanations of the impact of falling oil prices on 
the export of goods, the import of goods and NZ’s current account 
(6). This is compared to the impact of a world economic slowdown 
with detailed explanations with regard to the export of goods, the 
export of services and consequently, NZ’s current account (7). A 
better answer would have recognised the impact of falling oil prices 
on the export or import of services rather than stating they were 
unaffected, and used a more relevant contrast. 

3 E7 

This candidate has received E7 for this question because they: 

a) calculated the spending multiplier and the change in GDP. (8)  
b) have not used the spending multiplier to explain how the change in 

GDP occurs. A better answer would have made it clear that income 
is re-spent (9).  

c) correctly identified a recession and a recovery on Graph Two (10) 
and identified that in a recession inflation is low and production and 
sales are decreasing (11) and that in a recovery, production and 
sales are increasing, and there is increasing pressure on prices (12).  
The differing impact of increasing consumer spending in a recovery 
compared to a recession is explained in detail, using the idea of 
differing resource utilisation and capacity constraints impacting the 
price level to make a relevant contrast (13).  

 

 

  


